To following sequence of screen shots shows how the calibration process should work:
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TreeAge Pro will open the example model and the calibration process will be changing the Weibull
distribution parameters.
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# Initialize Object Interface instance to access T:eeAge Fro functiomality
treeage = Createobject ("TreeRgePro0l.Applicationobi”

# Open specific Treege Pro model. Adjust T

= path and name specific o your compurer envir(
= o Sree = treeage.gevTree("Ci/Eytnond7/soripte/Models/Markovweiball . crex")
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lebes Description Shon InTree, . # Specification of times when the obsesved cohort proportions where gathered.
It Calibrationfoints = np.array([1.0, 2.0, 3.0])
4 specication of cohort proportions [statel, stated, ... stacen] for sach observed time point
Calibrationvalues = np.array([[0.66834376, 0.22657988, 0.10507636],
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Python 2.7.11 (v2.7.11:6d1b6a681775, Dec 5 2015, 20:32:1%) [MSC v.1500 32 bit (Intel)] on =]
win32

ype "copyright", "credits" or "license()" for more information.

T
>>> execfile("C:/Eython27/scripts/calibration with Nelder-Kead.py")
start Ccalibration...
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When the optimization iterations are completed you will see the results displayed in the Python Shell
window:
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# Gpen specific Treeage Pro model. Adjust the path and name specific To your computer envirc
tree = treeage.getTres ("C:/Eython27/5cripts/Models/Markoviieibull, rex")
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ad - # For Rankings and microsimulation analysis it is sufficient to set the root of the Treedge |
De: “Nate markow_root = tres.gstRoot ()
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Event StateaTime1 (T # If conort aralysis is required then the root of the amalysis has to be a Markov node.

Even: State3Time2: (T # The following code is an example that selects top most child node of the root mode.

Event StatedTime3. 1(Tin # Lf the topmost child Branchlndex(D) is indeed a Markov node the cohort anmalysis can be run.

§ If the node is not a Markow node the cohort analysis will fail and script will break on tr:
‘ i | 0 # Some additional error checking could be added for that case.
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Tables Description Show In Tree e & Specification of times when the observed cohort proportions where gathered.

calibrationreints = mp.array((1.0, 2.0, 2.01}

# Specication of cohort proportions [Statel, State2, ... StateN] for each observed time poini
CalibrationValues = np.array([[0.66834376, 0.22657988, 0.10507636],
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33> execfile("C:/Pythen27/Scripts/Calibration w Nelder-Mead.py")

Ratel? = 0.209155
Estimated Rateld = 0,100783
Estimated Rate23 = 0.152508
Estimated Shapel? = 1.B57248
Estimated Shapell = 1.416653

Estimated Shape23 1.521137
Goodness of Fit value = 6.812215¢-09
Rnalysis duration: 62.3086 sec
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